

Poincaré recurrence theorem in MV-algebras

Beloslav Riečan

Faculty of Natural Sciences, Matej Bel University
Tajovského 40, 974 01 Banská Bystrica, Slovakia
Mathematical Institute of Slovak Acad. of Sciences
Štefánikova 49, 814 73 Bratislava, Slovakia
Email: riecan@fpv.umb.sk

Abstract— The classical Poincaré weak recurrence theorem states that for any probability space (Ω, \mathcal{S}, P) , any P -measure preserving transformation T , and any $A \in \mathcal{S}$, almost all points of A return to A . In the present paper the Poincaré theorem is proved when the σ -algebra \mathcal{S} is replaced by any σ -complete MV-algebra.

Keywords— Measure preserving transformation, Poincaré recurrence theorem, σ -complete MV-algebra.

1 Introduction

Let (Ω, \mathcal{S}, P) be a probability space, i.e. $\Omega \neq \emptyset$, \mathcal{S} is a σ -algebra of subsets of Ω (i.e. $\Omega \in \mathcal{S}; A \in \mathcal{S} \implies \Omega \setminus A \in \mathcal{S}$, and $A_n \in \mathcal{S} (n = 1, 2, \dots) \implies \bigcup_{n=1}^{\infty} A_n \in \mathcal{S}$), and $P : \mathcal{S} \rightarrow [0, 1]$ is such that $P(\Omega) = 1$, and $P(\bigcup_{n=1}^{\infty} A_n) = \sum_{n=1}^{\infty} P(A_n)$, whenever $A_n \in \mathcal{S} (n = 1, 2, \dots)$ and $A_n \cap A_m = \emptyset (n \neq m)$. Let $T : \Omega \rightarrow \Omega$ be such that $A \in \mathcal{S}$ implies $T^{-1}(A) \in \mathcal{S}$, and

$$P(T^{-1}(A)) = P(A), \quad (1)$$

whenever $A \in \mathcal{S}$; such transformations T are called measure-preserving. The Poincaré recurrence theorem states that almost every point $x \in A$ will return to A , i.e.

$$P\left(A \setminus \bigcup_{n=1}^{\infty} T^{-n}(A)\right) = 0, \quad (2)$$

whenever $A \in \mathcal{S}$. There is also the stronger variant of the Poincaré theorem: almost all points of A will return to A infinitely many times. It means that for any $x \in A \setminus B$ (where $P(B) = 0$) and any $k \in \mathbb{N}$ there exists $n \geq k$ such that $T^n(x) \in A$:

$$P\left(A \setminus \bigcap_{k=1}^{\infty} \bigcup_{n=k}^{\infty} T^{-1}(A)\right) = 0. \quad (3)$$

The strong recurrence theorem has been proved in various connections (see [7] for Boolean algebras or [3] for topological spaces). In [8] the theorem has been proved for a special class of MV-algebras (σ -complete weakly σ -distributive MV-algebras with product). In the present paper we prove the weak version for arbitrary MV-algebras.

2 MV-algebras

The notion of an MV-algebra has been introduced by Chang [1] as an algebraic system

$$(M, \oplus, \odot, \neg, u, 0)$$

where \oplus, \odot are binary operations, \neg is a unary operation and $0, u$ are fixed elements. By the Mundici theorem ([4])

every MV-algebra corresponds to a unique unital l -group G (lattice ordered group with a distinguished order unit u),

$$\begin{aligned} M = [0, u] &= \{x \in G; 0 \leq x \leq u\}, \\ a \oplus b &= (a + b) \wedge u, \\ a \odot b &= (a + b - u) \vee 0, \\ \neg a &= u - a. \end{aligned} \quad (4)$$

Analogously as in quantum structures (see [2]), instead of a probability measure, a state $m : M \rightarrow [0, 1]$ can be defined.

2.1. Definition. A state on an MV-algebra $(M, \oplus, \odot, \neg, u, 0)$ is a mapping $m : M \rightarrow [0, 1]$ satisfying the following conditions:

- (i) $m(u) = 1$;
- (ii) m is additive, i.e. $a \odot b = 0 \implies m(a \oplus b) = m(a) + m(b)$;
- (iii) m is continuous, i.e. $a_n \nearrow a \implies m(a_n) \nearrow m(a)$.

2.2. Proposition. Any state $m : M \rightarrow [0, 1]$ is strongly additive, i.e. it satisfies the following implication $a_1 + a_2 + \dots + a_n \leq u \implies m(a_1 + a_2 + \dots + a_n) = \sum_{i=1}^n m(a_i)$.

Proof. It can be proved by induction.

The following proposition is evident.

2.3. Proposition. A mapping $m : M \rightarrow [0, 1]$ is a state if and only if the following conditions are satisfied:

- (i) $m(u) = 1$;
- (ii) if (a_n) is a sequence of elements of M such that $a_1 + a_2 + \dots + a_n \leq u$ for any $n \in \mathbb{N}$, then

$$m\left(\bigvee_{n=1}^{\infty} \sum_{i=1}^n a_i\right) = \sum_{i=1}^{\infty} m(a_i). \quad (5)$$

3 Main result

3.1. Definition. Let M be a σ -complete MV-algebra, and $m : M \rightarrow [0, 1]$ be a state. By an m -preserving transformation of M we understand a mapping $\tau : M \rightarrow M$ satisfying the following conditions:

- (i) $\tau(u) = u, \tau(0) = 0$;

Acknowledgment

The paper was supported by grant VEGA 1/2002/05 and grant APVV LPP-0046-06.

References

[1] C.C. Chang. Algebraic analysis of many valued logics. *Trans. Amer. Math. Soc.* 88: 467 - 490, 1958.
 [2] A. Dvurečenskij and S. Pulmannová. *New Trends in Quantum Structures*. Kluwer, Dordrecht, 2000.
 [3] P. Maličký P. Category version of the Poincaré recurrence theorem. *Topology and its Applications* 154:2709 - 2713, 2007.
 [4] D. Mundici. Interpretation of AFC^* -algebras in Łukasiewicz sentential calculus. *J. Funct. Anal.* 65: 15 - 63, 1986.
 [5] M.G. Nadkarni. *Basic Ergodic Theory*. Birkhäuser Verlag, Basel, 1998.
 [6] H. Poincaré. *Les méthodes nouvelles de la mécanique classique céleste*, vol. 3. Gauthiers - Villars, Paris, 1899.
 [7] B. Riečan. A note on the Poincaré recurrence theorem on Boolean rings. (In Russian.) *Mat. - fyz. čas.* 15: 13 - 22, 1965.
 [8] B. Riečan. Poincaré recurrence theorem in MV-algebras. *Math. Slovaca*, submitted.

- (ii) $\tau(a \odot b) = \tau(a) \odot \tau(b)$;
- (iii) $a \leq b \implies \tau(b - a) = \tau(b) - \tau(a)$;
- (iv) $\tau(a \wedge b) = \tau(a) \wedge \tau(b)$;
- (v) $\tau(\bigvee_{n=1}^{\infty} a_n) = \bigvee_{n=1}^{\infty} \tau(a_n)$;
- (vi) $m(\tau(a)) = m(a)$.

3.2. Definition. $a \setminus b = a \odot (\neg b)$.

3.3. Theorem. Let M be a σ -complete MV-algebra, $m : M \rightarrow [0, 1]$ be a state. Then for any $a \in M$

$$m(a \setminus \bigvee_{i=1}^{\infty} \tau^i(a)) = 0. \tag{6}$$

Proof. Put $b_j = \bigvee_{i=j}^{\infty} \tau^i(a)$, $b = a \setminus \bigvee_{i=1}^{\infty} \tau^i(a) = (a - \bigvee_{i=1}^{\infty} \tau^i(a)) \vee 0 = (a - b_1) \vee 0$.

By induction it can be proved that

$$b + \tau(b) + \dots + \tau^n(b) \leq \bigvee_{j=0}^{n+1} \bigvee_{i=j+1}^{n+1} (\tau^j(a) - b_i) \vee 0.$$

Since

$$(\tau^i(a) - b_i) \vee 0 \leq \tau^i(a) \leq u$$

we obtain

$$b + \tau(b) + \dots + \tau^n(b) \leq u.$$

By the strong additivity property

$$m(\bigvee_{i=0}^{\infty} \tau^i(b)) = \sum_{i=0}^{\infty} m(\tau^i(b)) = \sum_{i=0}^{\infty} m(b),$$

whence

$$m(b) = 0.$$

3.4. Example.

Consider a probability space $(\Omega, \mathcal{S}, \mu)$ and the MV-algebra $\mathcal{M} = \{f : \Omega \rightarrow [0, 1]; f \text{ is } \mathcal{S} \text{-measurable}\}$, where

$$\begin{aligned} f \oplus g &= \min(f + g, 1), \\ f \odot g &= \max(f + g - 1, 0), \\ \neg f &= 1 - f, \end{aligned}$$

$u = 1_{\Omega}$, $0 = 0_{\Omega}$. Moreover, define $m : \mathcal{M} \rightarrow [0, 1]$ by the formula

$$m(f) = \int_{\Omega} f d\mu,$$

and

$$\tau(f) = f \circ T$$

where T is measure preserving map. By Theorem 3.3 we obtain that

$$\int_{\Omega} (f - \bigvee_{i=1}^{\infty} f \circ T^i) \vee 0 d\mu = 0,$$

hence μ -almost everywhere

$$(f - \bigvee_{i=1}^{\infty} f \circ T^i) \vee 0 = 0,$$

or equivalently

$$f \leq \bigvee_{i=1}^{\infty} f \circ T^i$$

μ -almost everywhere.